EARAROBREBRT —5 XN—ZXBISH—F

20224E58188 (K) 2m)11IE3H

SR EES

C 1 UA7Y

BRI

[AE%] 17%&:1,200,000 § ~ 237&:480,000 @ . 37&:300,000H  435:180,000 @ . 5 3&:120,000 M

SR RESS /M 3 BF (F8) |94L (B% | @BIEG | L3F S | AT | #E | A% FB) / BE / £E%S
HEAH : -1-1- - tEZE (1)
17 DAL TFTH 44 aa 1.(2_9).4 1-1-1-1 | 39.5 2 (11613;) pEz
RiRIT14 BRAVITHYF— LB
<~ v 5 | AHIESZ 1:30.2 1-3-3-3 [39.9| - 7 474 | NISE— (fatd)
2 12 NPV NFY " 5.0 7 L) | W) Farevk
R:FIWFNSY2 8:RIARFYSY J—YYTr—L
~ BEHZE : -6-4- - S (1S
1:E IHNVT Y 4 5 Bmz 1(73?:)3 5-6-4-4 | 39.5 1 z:g; EPHH?&( )
RiFVVvY/FEF B:TTARUVRAY—Y #HBI7—LA
= A . HHE 3 -9-6- - Lt (111E)
4lsls AILFRA E— 4t 5 G 1(.:;32‘.)4 9-9-6-5 | 39.2 3 (11:24) 1%_ &
RANRRIING B:ALFISVYT HEIS
3 3w 4 5 | HEBET 1:30.8 1-2-2-2 | 40.7| - 5 480 | AR (11IE)
5/5/6|¥at€Yh 54.0 Q) () |t
R:oO7% B:F7ITRRFIIV BEXFERS
° » 8 5 | BHR 1:30.9 10-10-9-9 |39.4 | - 10 | 473 |EDOZF (@)
6 2 | A—N\—0O—X 54.0 (71) () | MBI
R:ZAX—NT7IAY §:00/957 REKS
2 t 6 | 3R 1:31.0 11-11-11-8 [ 39.3 | — 4 43 | WWEBEKR (#eiE)
7 g | FEF/ HAVE i 54.0 (74) (3) | FAFIL=RK=R ()
R h—EVRIURY B:IFAREFHANS V1094577 —14
o _3 t 5 | RESD 1:31.4 5-4-4-6 | 41.0| — | 11 | 476 |REHE= CHAD)
gl11|E/9—Y2 54.0 %) (3 |BASH
R:F—NUIRDIL B:RFARNFTHYD LAI94S5T7—1A
-~ s o7 | EMEEE 1:31.6 4-5-7-7 | 40.4| - 9 495 | FHEE (01E)
97010/ 7VA—U7 L 5.0 (/4) © CHIRE
R:ZATT—NVRIT—k B:HI59%FY TJ—ILRT7—L
= 3 [+ 23] : -12-12- = FHE (1518)
1007] 9 | RIWEUS wE— €Y 5 o 1.(332).2 11-12-12-12| 40.1 8 (4_324; il
RYLSAN—k B:V/TTU—FzT EYFAU-—RIYRT7—L
- o1~y 3RS : —7-7- - WEEE (i
1lgli| 9vy—ruvs i 4 Fmm 1.(332).8 7-7-7-11 | 41.6 6 (4337) ﬁég_( &)
RFAIXTv— B:FUVERANF TITSTT—L
N ~ 4 | AERTE 1:32.8 8799 |M.6| — 12 | 445 |EBEEF— (&)
En 4| AA=YFY # *52.0 () o |1 TurRIWR
RikyI—9)LYIT B:NZSTHOY FIBET 7 —L
@ 11— —®BIEfI
13—7+— 6,7,12),10,(1,3),11,4,5,2, (8,9)
20—F— 7,6,12,1,10,3, (4,11) ,5,2,8,9
30—3— |7.6,12,(1,3),5,(10,11),(2,4).8.9
43— — 7,6,12,3,5,1,10,8,(2,4),11,9
o ILRE
B B 7 270H JA R 7-12 1,110 % 3= 6-8 1,090 3EE 3-7-12 3,200H
7B B 7 130 3-7 140M B 6-8 1,610 3EH 7-12-3 19,390
12 450 3-12 1,380 F5 E 7-12 4,250
3 120 =51 7-12 5,300/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




